
1

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A



2

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A

Istruzioni e precauzioni d’uso

I tasselli in dotazione sono idonei per muri in cemento armato o 
mattoni pieni. 
É responsabilità dell’installatore l’utilizzo di tasselli idonei al tipo 
di muro e installazione.
Per eseguire il montaggio, attenersi alle istruzioni e agli 
schemi tecnici inseriti nelle confezioni di ferramenta.
Usare scrupolosamente la ferramenta in dotazione.

Instructions for use and precautions

The dowels supplied are suitable for reinforced concrete walls 
or solid bricks. It is the installer’s responsibility to use dowels suitable 
for the type of the wall and installation.
Follow the technical drawings included in the hardware packaging 
for installation.
Carefully use the supplied hardware.



3

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A

Rimuovere le barre verticali
Remove the vertical bars

Inserire la Tv nell’alloggio
Insert the TV in the housing



4

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A

Agire sugli spintori verticali per         
posizionare correttamente la Tv

Act on the vertical pushers to position 
the TV correctly

Agire sugli spintori orizzontali per    
bloccare la Tv

Use the horizontal pushers to lock 
the TV

Fissare le barre con le viti fornite
Secure the bars with the screws        

provided



5

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A

Fissare la staffa a “T” sulla carrucola SX
Fix the “T” bracket on the left pulley

M6x12 TBL
M4x10 TSPEI



6

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A

Predisposizioni per passaggio cavi
Arrangements for cable passage



7

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A



8

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A

Prestare attenzione al verso del cingolo passacavi
Pay attention to the direction of the cable track

Fissare la piastrina centrandola sulla 
bussola che troverete sul coperchio 

con le viti 4.5x20 TC fornite

Fix the plate by centering it on the 
threaded bush that you will fi nd on 
the lid with the supplied 4.5x20 TC 

screws

Le pareti del cingolo passacavi sono apribili
The walls of the cable track can be opened



9

HOMY  Night Collection

Anta scorrevole Screen / Screen sliding door

W-IM2178_A

M6x60 TCEI

M6x80 TCEI


